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[Dechon 13.4 - Moben in Space MVC

« Exyre Exawnmples
#22 Dow ok (f o Parkidle moves it Constuntb Speed, Hen
Hae velscity snd acteleation vectors AT Ortliogoned,

T » 3 -
N .- |\~ 3 - a5 . WS | = .
o -~ 1\ S | - (VLY

B 25 A vall is thown ar 45° 4o He gouned, TE He ball landds
c[OM Ao ¢ what was e inidal\ sza.aé.?
‘kme. I ‘j: (o) X = q0

O L(\lo Sin 45")- ’\i‘(jtl -0 @ E(Vocoséce"’).—_ Qo
(5(\/0 % - ?;,‘:7 Ji\/o ﬁ
ta Vf-jiz ‘ \J*“‘—\ m/j

¥ag The Pag‘l-‘sn of & 9pm(5h-‘ps‘$ () :((3-&{:\, ‘{7.4-(44;3) (1‘ Ex >>
A Hre Loorclinetes of a Spate stahion are (6,9,8Y . The Coptein

weonts M QP&\-LL%LMP [/\.eé{ y Lo ‘HA& Sﬂm SJ“L‘Hcr\ So
Can (oast in with @ngines AL . tohea Shewed he hun off He agires?

Need:
2 Clboge ) + € (Loge)t = <lra.2Y

((quq\
i_‘ 1_ _4__ & ?t‘:{’of{_
<’5+€oec w4, Dhbg T ofe*) (gt +1) > o4, “)

@ 3"'3_"{1: [ 3=‘l‘o(:p = L=
h @ 2‘\'\(\%-&5‘:4

@ FST V- 4ST ) 4 BES
(224 0*

=9

Fe™ 02 4 (g% N+ ¥(2-9)s =9 (5% 0y

EQ_= S:\ So L:::-QI\\




